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Warm Up October 6

1. The Fairy Tale Spectacular is coming to town. Admission to the fair qosis $32.50 and
ide cosfs $0.80. You have $50 fo spend at ine Fairy Tale Spectacular including
‘admission.

Part A: Write an inequality that represents this situation.
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Part 8: Solve he inequality to determine the maximum number of rides you can
enjoy at the Fairy Tale Spectacularg
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Solve each inequality and graph the solutions.

1. 2x>4x-6 2, 7y+1<y-5
3. 27x+ 33 > 58x— 29 4, 3r<10—r
- 5. 5c—4>8c+2 6. 4.5x— 38> 15x—23
7. School The school band will sell pizzas to raise money for new uniforms. The

supplier charges $100 plus $4 per pizza. If the band members sell the pizzas for
- $7 each, how many pizzas will they have to sell to make a profit?

Solve each inequality and graph the solutions.
8. 5(4+x)<3(2+x) 9. —4(3—p)>5(p+1)

10. 2(6 — x) <4x 1. 4x>3(7—x)
1 %ﬁ 3{ > 51‘ 13. —36.72 + 5.651 < 0.251

Solve each inequality.

14. 2(x=2) < =2(1 = x) 15. 4(y+ 1) <dy+2 16. 4v+ 1 <4v-7
-17. b—4=2hb-6 18. 3(x - 5) > 3x 19. 2k + 7 =2(k +14)
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- 7. School The school band will sell pizzas to raise money for new uniforms. The
supplier charges $100 plus $4 per pizza. If the band members sell the pizzas for
$7 each, how many pizzas will they have to sell to make a profit?
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8 5(4+x)<3(2+x) 9. —4(3-p)>5(p+1)
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10. 2(6 — x) <4x M. 4x>3(7-x)
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14. 2(x-2)<-2(1-%) 15. 4(y+1) <dy+2
17. b-4=2b-6 18. 3(x-5) > 3x
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—S < ax+329

5<2x+3<9 Solve each compound inequality and graph the solutions.
2a. -9<x-10<-5 2b. —4<3n+5<1l
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